| L2 COMPUTE time per input event Enties 2635855
x10° Mean 8.68
o F
§300 C RMS 6.431
.m. 5 H Underflow 0
5 [ :
250« .................... Overflow 404
P101o] N | R S S S R TR
S1:70] 10 IR beeenns e e e e T L
200 - e ke et ...............................
7o) | R A N, N et feeeenns e T T
0 n L I 11 1 I 11 1 I 11 1 I 11 1 I 11 1 I 11 1 I 11 1
0 60 80 100 120 140 160 180

x: COMPUTE time (CPU KkTics)

rate of COMPUTE | Enies 2635855
— Mean 1012
N
< RMS 550.2
L
%)00 Underflow 0
>

800

600

400

200

Overflow 7.54e+05

200 400
x: time in this run (seconds)

600 800 1000 1200 1400 1600 1800 2000

total events. O=anylnput 10=anyAccept 11=normalAccept 12=rndAccept Entries 3328006
Mean 1.54
| RMS 2.029

[ L2-etow-calib: seen tokens Entries 2635855
Mean 2048
a F
S RMS 1182
>
fD.G Underflow [o]
=
Overflow 0

500

400

300

200

100

%

500 1000 1500 2000 2500 3000 3500 4000
x: token value

Underflow o]
""""""""""""""""""""""""""""""""""" " Overflow [o]
11 1 i 11 1 i 11 1 i 11 1 i 11 1 i 11 1 i 1
6 8 10 12 14 16 18
Input: O=compute. Anything else=Contact Expert
ETOW #tower w/ energy /event Enties 2635855
" Mean 246
g RMS 26.88
S]
o
3 Underflow 0
---------------------------------------------------------------- Overflow 1.032e+06
10°
10*
IIIIiIIIIiIIIIilIIIiIIIIilIIIiIIIIiIIIIiIIIIiIIII

Fri Jun 24 05:25:44 2016

60 70 80 90 100

x: # ETOW towers

0 10 20 30 40 50

#ETOW towers / event , Et>1.50 GeV Entries 2635855
@ . r
c . :
8106 _________ . U eeieieas T ; Mean 1.579
o .
5 .
:|RMS 1.936
l 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1
0 5 10 15 20 25 30

x: # ETOW towers




[ ETOW tower, Et>1.50

10°

10° H

GeV (input) | Entries 2845424
Mean 413.3
RMS 232.9
] i i i i i LN
100 200 300 400 500 600 700
x: ETOW softID=ip+60*in
Entries 2845424
Mean 0

[ ETOW tower, Et>1.50

RMS 0
GeV (input) | Entries 2845424
Mean 0
[T RMS 0

P Pl Pl A Pl
768.4 768.5 768.6 768.7 768.8

A
768.3

il AR
768.2

il
768.1

768.9 769
x: ETOW softID=i@+60%in

[ ETOW tower, Et>1.50

GeV (input) |

Entries 2845424

T80 769
x: ETOW softID=i@+60%in






ETOW tower, Et>1.50 GeV (input) Entries 2845424

| -
@]
P’
(&
()]
7p]
O
o
|_
l
=
O
=
o
>

I
o

12
X: eta bin, [+2,+1]
Fri Jun 24 05:25:44 2016




